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ECONOMICS
( General )

Paper : 6.2

( Planning and Development in India )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the guestions

Answer either in English or in Assamese

1. Answer the following : 1x10=10
oS fRAIART Ty iy

fa) What is democratic planning?
NI “HfRFs= s 2
(b} When was the NITI Aayog’ of India

constituted?
ST “NITI SICATS” i o <1 C2feer 2
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(2)

What is the main aim of Import
Substitution Policy of India?

TR S R feT 33 Teaen R 2

Define the term ‘economic globalization’.

‘T (STeRIFIa’T Hew fra |

Give one argument for favour of
privatization of Indian industries.

TR TTIIEIRA ([ORIATIR A «or I
o |

What do you mean by SGSY?
SGSY WA & g 2

Is India a mixed economy? Give one
argument.,

O[S 94 Ry ST et 2 7 9o I fi o

Mention one objective of ‘Act East Policy’.

‘o3 T ("< 1 Tre BeEy 90|

Write the full form of NEEPCO.
NEEPCO-3 4 F#Ieh1 ferdi |
Write one important cause of slow

economic growth of India.

TReY TEY afAfes T @bl gFgd IR
fert |

( Continued )

2. Answer the following questions :

(3)

wore il eprTRd el i

(@)

(b)

(c)

(d)

(e)
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Mention any two sources of resource
mobilization of India’s Five-Year Plans.

ored Awfs R e @ )

GG o1 BRI +{1 Sgamd 4l |

Give two arguments in favour of
economic reforms in India.

SRS HYLAREF AT IAOCT 751 I 7T

Write two objectives of MGNREGA.
MGNREGA-I 751 Seaedy o<1 |

Mention two functions of Planning
Commission

oIl S o1 TR TeEy 1

Why is the economic growth rate of
Assam slower than all India average?
Give two arguments.

S GRS T = SHEREE T Tag
Rl I 97 701 e |
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(4)

3. Answer any four of the following questions :
S5x4=20

were Al 2eaRd B @A sifkte Teg

(@) Discuss the achievements of NEC.

&I~ AR TSR G 1 |

(b) Is there any need of foreign investment in
the context of policy of economic self-
sufficiency of India? Give reasons.

SRe HefLfeT qfréaTierer Afeq “ificafree
tacitis RVEeR @ adamem i S 2
PEPEZ TTHY 9 |

fc) Distinguish between centralized and
decentralized planning.

YO UIF [eeTige “ARTEAN 1 e

{d) Analyze the salient features of India’s
Five-Year plan.
S ARG ARPEE Y AFEPER 390
9

(e} “The Five-Year Plan of Assam is a carbon
copy of Indian Five-Year plan.” Do you
support this view? Give arguments.

‘TR RIS ARTE 2T TReR R
AR @3 T AR 7 SRe of e
91 7 3
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4. Answer the following questions :

(5)

Explain the various features of
decentralized planning of Assam.

e Reefige ofiesw Rfen  wfiEpm

RIRHES SN

weTe fra erpryes s i

(@)
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How are the strategies and goals of
economic planning in India changed in
the post-liberalization period? Explain.

TR A998 e sRes weftafes
ARTFAN (S F THEA (gl R
(eR, R 90

Or / 9%t

Describe the achievements and failures
of Indian planning during post-
liberalization period.

TRe TR IS SHEETS  ARFEIR
Tl S ReEeropyz 1 34 |

{ Turn Over )

10x4=40



(b)

(c)
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(6)

Examine the role of Foreign Direct
Investment during the reform period of

India.

vWﬂ:WWWWW
R g <R 340 |

Or / 931
Discuss the present composition of
foreign trade of India.

WWWWWW
(e D41 |

Describe various achievements and
failures of decentralized planning of
India.

saer Ry AResa Rien swael ¥
fRzerortyz 36 T4 |

Or / 91

Give the arguments in favour of
liberalization of industrial sector in
Indian economy.

sEoE wAfes Truel 4¢9 TARFCR AT
o1 e |
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(7)

(d) Explain five important poverty alleviation

programmes implemented by the
Government of India during recent times.

ST RS S HIRCT ATl
sii53e 47 el qAae SR 4 4 |

Or / &1

What“ do you mean by poverty line?
Explain various causes of poverty in
India.

wRyed S qea & @ o[ed aRueR
RfSw SRR U0 41 |

* A K

3 (Sem—6) ECO 2



